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BTERL e 6 1 0.2 0.2
TRERL e 7 2 0.4 0.4
BEERL e 8 1 0.2 0.2
TORFR e 10 31 6.2 6.3
T2ERL s 12 6 1.2 1.2
TBEFR s 13 2 0.4 0.4
IBTER s 15 61 12.2 12.3
T7RERL s 17 3 0.6 0.6
LE L PN 18 6 1.2 1.2
202 20 90 18.0 18.1
23ERL e 23 2 0.4 0.4
AT e 24 1 0.2 0.2
25ERL e 25 20 4.0 4.0
2T TER e 27 2 0.4 0.4
28TERL e 28 1 0.2 0.2
B0 e 30 106 212 21.4
BEZFRL e 35 8 1.6 1.6
A0 e 40 43 8.6 8.7
A5TERL e 45 7 1.4 1.4
BOZFRL s 50 46 9.2 9.3
BETER e 55 2 0.4 0.4
BOZERL e 60 10 2.0 2.0
BETER e 65 3 0.6 0.6
TOZERL e 70 16 3.2 3.2
TEEER e 75 1 0.2 0.2
BOZFRL o 80 2 0.4 0.4
QOB e 90 1 0.2 0.2
TOOEFR e 100 8 1.6 1.6
T20EHR e 120 2 0.4 0.4
TBOEFRL s 150 3 0.6 0.6
2002HR e 200 1 0.2 0.2
250FFR s 250 1 0.2 0.2
BOOZHER e 500 1 0.2 0.2
BOOTFR et 800 1 0.2 0.2
ATARE BB s 5 1.0

A 501 1000 100.0
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